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Intermediate Hebrew Language

Candidates offering one section only must answer all questions in that
section. Candidates offering both sections must offer two language
guestions (15 marks each) and one specified text question (20 marks)
from Section A and one language question (15 marks) and one specified
text question (15 marks) from Section B.

Write your number not your name on the cover sheet of each answer
booklet and on the second copy of the question paper provided. Tie the
second copy of the question paper in your answer booklet.

STATIONERY REQUIREMENTS
20 page answer booklet
Rough Work Pad

SPECIAL REQUIREMENTS TO BE SUPPLIED FOR THIS EXAMINATION
Second copy of the question paper

You may not start to read the questions printed on the subsequent
pages of this question paper until instructed to do so.
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Section A (Classical Hebrew)

1. Translate the following unseen passage into English [8 marks] and
parse all of the verbs [7 marks].

Y DR 37p¥3 TIT 3N PRRATNR Niann 29 T SNY nin ok !
“Op NN DR T ARY DYD NINANTIN R WR Mg Wown oRa o
SN RIAD A1 R TIT §9 08 3 annwn AR 5 TiTOK ikaa o iwsa
TRNT Ty RITTAD D TR TIT PR TN 4 omogng DR manmn R
207 133 13N W 0 annn BTN 593 N4707DR NAN?ANTH DY) IWN
1037 VRA © 333 NI IRY NRTD YT TR T TR0 IWI0OR TIT 8D S
"I 200 T IO W3 IRY M DA% 03 IRl NP3 19 Tann
MRR™D "2 TN ® 230 T0RY IR RIPN IR MIOR 197 7 AnpaTI 0N
"H372 PRV MK "2 IANM Y RITTY YR 0K © IR RH0Y PIR R

I FTRTON DRMIRY IDIOD WK TTVRRY TONTOD TN

7130 N 1503 anR M K5 2 BpT 2 nnnhg Pou Thpm 1© 23 was Ti

(2 Sam 1:1-10)

2. Translate the following unseen passage into English [8 marks] and
vocalize it on the extra copy of the paper [7 marks].

onRIPH opM VYR OTO™WYWA AW VIV 27Pa ANTO DYAROAN MW IRAN !
RN D 02T NPatHR ORI 10 ITRTRI 30 KRN 2 RN 0AKR INNWN
TRA D27RAM 3 Y MDA D RY AR 023775 onabm onnawm 0ahan
TWIRY 120V DI04 IR NAR MR AW DAY WYT INaTOKR INAM POR 1901
VH-HR RPN S AP OpatHa P WAN MantHy 1201 070 WIR Y
R¥MC DAR APTN IOR ORWIA 1990 TOR IRITIWR DWIRA TR 1D 10K

AR 0 DT ANNan VI DRK
(Gen 19.1-6)
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3. Translate the following unseen passage into pointed Biblical Hebrew
[15 marks].

! From there Abraham journeyed toward the land of the Negev and lived
between Kadesh and Shur; and he sojourned in Gerar. 2 And Abraham said of
Sarah his wife, “She is my sister.” And Abimelech king of Gerar sent and took
Sarah. 2 But God came to Abimelech in a dream by night and said to him,
“‘Behold, you are a dead man because of the woman whom you have taken, for
she is a man’s wife.” 4 Now Abimelech had not approached her. So he said,
“Lord, will you kill an innocent people? ° Did he not himself say to me, ‘She is
my sister’? And as for her, she also said, ‘He is my brother.’ In the integrity of
my heart and the innocence of my hands | have done this.”

(Gen 20:1-5)

4.  Write a linguistic commentary in English on the following unseen
passage [15 marks].

NIPY MZITAN YR MPYOR T2 DI VNG CAnNT3 Mpon nimaT !

RN 197 TP M 9950 MWWIR 737 NI opn 3 85 0w ANYTR Y

mim 4 cm aebn MWWIn bpny Ri7 A2 TN AW 1IN WWan I3 I

WY S 3WNY NIPN TN B3 SIHTWE v ooy i on

0200 R DIITOR IR WK 097N 150N MIoROR v Tppr ombnn
;DT 32WN NPHDN NIV T NI

(Jon 1:1-5)

(TURN OVER)
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5. Translate the following seen passage into English and comment as
requested below [10 marks for translation, 10 marks for comments].

nH AW 7D NN AT WK DaY OR3D nim bw awm Spwn nhw wan !
AWM NHTIW RN TR P DWIR AOWY NN 2 awn qon phhR s
:IRID ATWR MWD DRI NNI0 TAROR? IR TR AT hRn SRAZ I 3
"DRY D83 DRITOR AL IPT TN DIV T2 2P IAKT TR 7238 TR70R N1 ¢
ORI TDIR TN TINR "DIRY VIRYD IO PR "D AWTRY Y A0 DRE N
iR hRanWR masian m nRoy R TR ATYA TnipToia wa nNn S
NN IR 77983 YR N7 HRAD N € IN7NIOY NRDTDY DR
oW APRITTO SR D10 DRN 7 ORID TIIRTRD 2 TIRITIR AR 77708
VRN ORI NTWRN DNN LT T3 203 O AW 137752 R Apnnn
"2 OFD bOR Ov7Y 007521 DRt WA NN © Tous own TR Wi AT
PYIR B2 PR T 1M 10737 TWRDD N1 T9K7 TR IR R
"OW M2NYY INPIIOp hanow opay AWK 2 mmap inn nwk hasbn
WWITIWR DRTo2 MANN ok onr 07w inipn wwn YOR opn npn
DIPOW 332 MWK INDN 9112 TIPATOR IRAN NERDTIN A 1 07D D3RI

10N 33 DW™RIPY A9 70nm SR matng
(Ruth 4:1-11) .

a. Comment on the word order and choice of verbal form in Spwa n%w whs
(v. 1). [2 marks]

b. Explain the n::- ending on the forms n7wp and naw (v. 1). [2 marks]

c. Comment on the issue of morphology (form) versus semantics
(meaning, especially tense) in the case of the verb 7720 (v. 3). [2

marks]
d. Explain the problem of v. 5 in the light of vv. 9—10 and discuss
solutions. [4 marks]
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6. Translate the following seen passage into English and comment as
requested below [10 marks for translation, 10 marks for comments].

D PR DAD 03 R M i PR 21ah MmN nYn Srinw awam !
a1 3 :nixah Har &Y ning ®nn Py inpna 23w S &IA0 002 ) 2 (paos
T RPN 4 DTOR TR OWUTIWR NIy 52703 20w Spinw 12 07p B
"MRIRTRY IR D DRIP™D P10 RN HRTOR PN S 03n NN SRIDYTOR
RN IRTOR T2 ORINY DRTORINY iy NP A 90 © :23wM 70 30 21w
MR YT R SRV 7 119w 20 11 NRIPTRG TN T2 DRIP40
Duox 720 bph hwhwa Svinwap My Aot 8 tmniaT vor mop 0w
22V 7 TRINWH oD RN 0 1037 KD MY D 90 130 77 DRIP "2 130 NN
HRIPR2 23w SR T2 TIAW VAW " NI 3T HI0K) TR KOpTOR )
DAY 72 12T ORINY DN HRINY [SRINY DPHITDPI RPN AWM KN 1O

I
(1 Sam 3:1-10)

a. Discuss the accentual division of v. 3. [2 marks]
b. Compare and contrast the expressions nin 1na P and nika? 52 &Y
(v. 2) and &7p i qo%1 (wv. 6, 8). [2 marks]

.....

na2 (v. 3) and M3 Yor Moy 0 (V. 7). [2 marks]
d. Parse the following forms: 1na (v. 2), 591 (. 6, 8), 2 (V. 7), 121 (v.
8). [4 marks]

(TURN OVER)
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SECTION B (Modern Hebrew)

1. Translate the following unseen passage into English and answer the
guestions in Hebrew [8 marks for translation, 7 marks for the
guestions]

"y ThonY?" nyT1Y

N'N DNIYNUN CIRYR I'oR7a nXIvl N7 X "MTnon?” nmin
?"yaxa onYThon 'R D'WTNN D'7IVN DX DRIV 271 ,0"N] ]ARNNY

INYUM 0'RIVYD D17wa nirn? Xin "yton?” wion Yw nwn winon
DN DNX DOXN X'D NIRN "?70T7 7w qnivn oy 17Thon Anx 'N"
?n17vA

PI'T2 NINIL,NN2ITA NSYWA KINY DIYA L[17'02 V'D1' X7 '"w'7wn wN'on
NINY NNIX NRT ,"YTNon7 y1I' XIN" JInwmn 7V 0NnikwD aTon 19nn
T D X7 NTY 0 W O L(N'RIN T TN X7) 'MNon DX A'wn? yTe
702"

NIN .071D NN 02NN D'PINE NRPNY )22 101 1'K YXIMnNn 78
2'NNnN DTIR NN LPINN DY 2TNON X7 XIN WX TNIM on' WAIT TN
ANK NDHN' N7'NN X ,0IWN NIRIINGT 12T 7w 19102 K70t KN .NDHNNY

WIYN XIN WX ,"YThonn" V1TIVON NK WIADYT7 TWON NU'0NANINA
NN [N7 1M DX Y1DYWT 1O DIV D'YN'NY WNNY' KN .N2'Na I 7V
7907 ¥ 0" IX ,"a¥Nd Aawnnn? oMY P71 L,WTN N7y IR ern
STIVE"D'2Inn mMina

on' YNITI 0'ZINN D7YNNY A7 ,"YTnonn" NOTR? D'Nn NI 0'nys
IT NYOIN DNAN LPINN '97 2DINNT7 D7D DX 2'NY7 1IN X7 DX .TNIM
AT0Q N7 NXN RPITY 112X 79 nf79RY

Batya Omlinsky and Yonah Weiss, Ivrit be-dalet amot, p. 79.
[1 mark] ?yTnon?' 2v197 wr n'win'® nnd ,yopn 9%

D2'NN D'PINT NNRPNY 102 10 1'K YXINNN ‘78" NIk IRT nn 7w 0" b
[2 marks] ?"n'71D nx

DNX DX 7NININNAN NRNINNAN XAN7 27190 N9 ARNIn IrX? ,00p0n NMaT? .C
[4 marks] ?7Tnim on' Nn7n yan'n? Tmn v RN ?0'Don
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2. Write a summary in Modern Hebrew of the following unseen passage.
The summary should not exceed 120 words [15 marks]

?n'mro nira? n¥xn

?20-n nxkn7 NdYTA N0 N7 N Nn

NIY D"97NN NI' 1197 NY'OIN 0710 1I9'0 YW MIWKRIN N0N'AN
DA NN NNIX 91021 ,N'70'K2 119'0N Y'oIn 170 nknn N7'nn2 .J'oa
'NNXY [OINQ YOO K7X L,YIX7 YOINN TTI X7 119'0NY X'N NNINN .NO9IXA
DI7N NND TV ATYN 1T IT NRIYIENIRIN NN INYSIN .0IY NiMizna
?07 DI7N 1NN .12'0R7IR DI7N KD NT'0

N7ITAN NANKRN DI7N 70 IR )'01N DI7N 7Y NI'R N71TI'0 DIN
D'"'NN NIMNOSKXNA 7827 DI7NN XIN .0™ NP N2NN K78 ,NNKR 707 no¥nn
N7VI9 ,N'RK1DL ,NIAT D 7w mmkn XN (M9 n'minn X2 n71T'o Dwn)
NIA% yT'y TNIMN TNX? MY AXNIT'M72 'O N7V X'y N0 I
"N .0"NN 7Y NIYXRIAYT aynl Tvnn N7IYN INKN ,01'A%7 Tvan INIX
NN 1722 X7 7200 o2 XX ,D192 X7 NI AYTYI'0 7w nid'min n'o
N0

SINATNYT TD NNNI0 NYI'RY T 78K RPIIT WNINN n77T72'0 01 ,75Nn TN

YNXN D"7270 NIYAXX DX NIXYIZN ,N70TI'0 7 AMrnk? NI 1'R RIN

NOIN NI'NI NZNTI NI'RY ,NN7202 NDNNY IT? XPIT XK7X NN RIXNY
072NN

7w W nIrn%? noon XN ?720-n nxn? NdYTa nT'07 N7 N nni

N7 D'W1 'Ya 02T NYWYTIRE N1720 nt9—"n71T1'o ' aon"—raon

N7X N'XIN 77 X7 719'00 [NYT? L[IOX X'N N'WIN NIFA'09N 1INSIZNA NIvyN

D'YI I'N ,I'RNXYN DT DX YN97 DIpNna .NITTI'o 7w nNiT 17210 oa
LDXPN IR DXPN N NN DK DY NIR 7'¥'Y 7'017 ,017 nt'oxa

Mazal Cohen, Agada shel Safa, p. 84

(TURN OVER)
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3. Write a composition of 200 words in Modern Hebrew on one of the
three topics given below [15 marks]

TN'D 2V ?7Mwn NTD NN ,)AxXYA IR 071V TNR 12T DAY D7D IR .a
?D"NN 7V N1 'Y yrow!

N'2x¥N7 Mu7Nn .'nmitn%? T2y NI X721 01707 70 ke 7 Tt b
1210 "mya N an7x¥n? 0T 701 ,0MNAa

N7myn 7017 nm 7y N0IKY 7KW pINN DY D''DON DNX DXRN .C
.N"0N 77190N N2 N2 NA79N IX '07I9 [1IAX NAI0YT

4. Translate the following seen passage into English and answer the
guestions below [8 marks for translation, 7 marks for the questions]

7 yop ,"”a ;1o ,nmina

NNX DX NANX X'N .N'YY NNSwnY? N2 nn'ail 7219121 n 1713 n700
'NIONTNIYYIA YNYY DNIYD 7D DX YV TN DNNIY ANYAl N2 NAnNX
IN IMI'¥Y X T—NAWd1 D' 'WaxXd 1'¥n IX [N9'Ya DY NNY NN
,0N"7Y NNIYIE DNIR NO0IX NN'N D700 'RYNY DN DNIX V'RYN
NN NN TV )2 2V YT X7 myy XNl

NNIN XYIY QYT D OX ,TINA IMIXN DX 07001 19! 122 D' NNy
,NUPYIL TINA NN NN X' .ANNSYN ¢ 200 Wwivn 7w nwN?
N2 DX N7 NN M0 DY .Awnan XN an NYT? N7 X7 07vnl
I7'ND "T2 NP'TNN R'N .NY22IKN NRAYW INRYT X7 [AT DT DD WURIND IR
227 DNIONN NIMIPZAA 71 WD DX NNXNL VR T '

NN ITIYN ITIWNA NNY NIX 1727 120101 IXRITN N'an A1Th 1017
MYOP NIANTNA 12V UKD .N'N7wnnn Nvppn Nznn 77 ,X7'nn ainna
NY'NN .NINY DY'R 72001 TR DTN NNY 'TIT NIX 'NIRYN .N'1197 "Mool
.N'9 2V N7 P TWKRD DA T NNIR NN X7 DN20 DT ARTRN

Adapted from Brandeis Modern Hebrew: Intermediate to Advanced, 151

a. List all the examples of explicitly past habitual expressions. [3 marks]
. List the irrealis conditional clause. [1 mark]
c. What is the difference between the adverbial constructions in nanx (x'n)
N1 nank nny nX (lines 1-2) and mixn imix nanx (n7vol) (line 6)? [1 mark]
d. What is the subject of the verb n71>' in line 8 and to whom does it refer? [2
marks]
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5. Translate the following seen passage into English and answer the
questions below [8 marks for translation, 7 marks for the questions]

2 77N ,NOINI ANX X

2NN W oMxn 0N oti'w nipya ,50-n nnw qioaw XYX
077570 0P wonn V72— nir 0 NI9IX DMIXIN WONT? 7NnY IR
7020 )21,0MXIMN ' DX NIZYVN7 2N 2wonn N o' pnn?i 'wnin fm
—RY NPT v Danwnin (1) Mmyo? om'knnn 0DNXIm 19'0In XNN
NNY N'¥YNN2 .0'WTN DA 210 InN191 (3) 0'wa 'Taa7 np'7nn nnno9a (2)
,0M227 niX7In NIy M DA 7Y AN uan y'yn uonn 0'w'en
nire (4) 2%in .0'MmMiIN71'2N NI9IRND R OXNNA DN2A71 0'w17 001N
.DMdmni (6) o'iapn nmxm Tx7 nont (5) nnann v 0'wTNN DNXINNY
JINDAN TIT'Y? N19IR NIAIXNA IX DI019] 21y (7) q7In2 27'0 KiIn 7aN
DINN2 A7NWNY7 "V 17 n'D X7 ."Nn¥y Tya N2 nav NINo"y [Yu Rin
JI91DN NINWN NISIXN 1Y

.N19IN7 TIA'2AN 12YNN NX NIYY7 N'7xn X7 XNX von” nwyn? 7ax
niwy? 7nn XN 60-n NY 9102 .'woINN 7Iv2 NNNNYT 12 (8) n'n X7 XIn
0 NMIX "NNN yaRa Drvi?nn NOIPNY  'anwd NI9INT Naynn DX
Mwa 17in 010 7Y N oy .7yonn 7Y D0'TAaN NIAYynn NNX ANTAY
RNIN TRY X7X NI NIMDTY 2IrY NI0'Y ynx? 0'wTNn 0'7van 101 1961
N'NY AR 7077 W'va nnog (9) 7vonin NNt ,71an'on N1 1inN TN
NIN .INIR 7'¥07 pann 7001 ow? Y9 2vonn 1985 miwa x a0
207 YN

7Y [TAIR D' NTY DR Nvn 757 nakon (10) xnx 7w imaao”
NI TN NITANA TN 719 7Y 1910 X DAY INM2YNY '1DIN MIR? o
".N70757 2yni 01227 Tyn nann N RNDK .NARND

Adapted from Brandeis Modern Hebrew: Intermediate to Advanced, 334
a. List one example of a n7vo nw (verbal gerund noun) for each of the

following binyanim (verbal patterns): qal, pi‘el, hif'il, nif‘al. [2 marks]
b. Parse the ten underlined forms. [5 marks]

END OF PAPER
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